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ﬁf a periodic function is the length of one cycle, measured along t
xis. Check your graph of y = sin{x} to confirm that the p@i@d is
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2. For y n{¢x), what is the transformation .
fro hg gmph of v = sin(x)?
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3. Graphy = sin(2x) =
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5. Fory = sin(4x), what is the transformation from the graph of v = sin(x)?
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&. Graphy = sin(4x).

7. What is the pericd of y = sin{4x)? T‘
8. Complete the following table.
Function Period
y = sin{x) 3407
y = sin(Zx] 180°
y = sin(4x) q0°
Y= 8ig C k)
9. How can you determine the e:«)"‘ iod from 1 guation?
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Part 3-Phase Shifts (Horizontal Shifts) o[ | 528
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v = sin(x + 90°); Y= Sn (34
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2. Sketch the graph of y = sin(x} an o e
v = sin(x + 90°%) on ﬂ'ae grid and clearly label
Them.
3‘;' \/ A l
olo igo| 0
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4. Sketch the graph of v = sin{x} anc =
y = sin(x - 180°) on the grid and clearly label
them. 0,0 — shift by 150 — '301 )
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5. Complete the following table. 50 D

Function

Phase Shift (H
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y1 = sin(x)

none
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Yo = sin{x +

Shift left by G0°
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ys = sin(x - 180
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Explain how you can determ

Y= Sin (A-d)
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Part 4 - Vertical Shifts
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L. Neatly sketch the graphs below on the grid
and label them cle @Siy, @ i
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2. Complete the wg‘@%wmg table
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Function Vertical Shift
Yi= SWEG{) None,
Y, = ginlx) + 2 -
Yo = sin(x) + 2 SW’@{ up by -2
¥y = sin(x) - 1 Shift down by |
3. Describe how you can determine the vertical shift from the equation.
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1. Given the equation y = 3sin[2(6 - 90")] + 2,
bl Y vidues 2y
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predict the following:

¢, Y Phase Shift Tialt 90" (add 90 o Lvaa)
S4 Vertical Shift __UP 2 ( odd 2 4o wd»«ﬂ 1

Steel Step 2 Step 3 Step &
2. Sketch the graph, shifting last,
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